AL 0.5x — 1.2 = 0.2x + 0.3 9] S S LS}H 2

D1 @ 2 ® 3 @ 4



o
~

o, a o] Fk

o]
=

M7t x = -3

9]

dx+17=1-2a 9

w4

s

ﬁ/-
woE
T o

s

@ 3 ® 4

@1



b2 dap g Alo] g 7o) s E 7 220
4x+b=—-ax+3

@(1:2 @a:3 @a:
@ a+3 ® a+-4




4 2
g

4 4

D 4

ol

2 o

R



A ©] A9 57t o] Ak Akl 2wl T el e] AG5E ek,
o 49 A Ape] Satek 4] Al 524E vRE HLueh 180]
Aek. Ao] A2 £4E xet B o, A S8 T T A0 §2
72

D 20x+x=10x+x—-18
@ 2x+x=10x+2x+18
® 20x+ x = 10x + 2x + 18

@ 10x+x+18=x+10

® 104+x+2x=x+18+2x
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D 2-3x=2(x-4)

@ 3(2x-1)=4x+1

® x-(bx-11)=-2(x-5)-3
@ -3(2x-7)=-(x-14)

® —-(11-4x)=3(-x-1)+6
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@® 5x-(3-x)=6
@ 4-(x+3)=2x-(3x-2)
@ 4x? -2 (2x% +3) = 4x

@ -(2x-3)+5=2(4+x)
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